ﬂé Converting Repeating Decimals to Fractions Name:

Rewrite each infinitely repeating decimal asa rational number (fraction). Answers
1) 0145 2) 5.80099
1.
2,
3) 51.2; 4) 3.82;
3.
4.
5) 0.36125 6) 2.5;
5.
6.
7 7.9021 8) o.70; 7.
8.
- — 9.
9) 7451 10) 0.34397
10.
1-10 (90|80 |70] 60|50/ 40[ 30|20 10| O
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Converting Repeating Decimals to Fractions

Name:

Answer

Rewrite each infinitely repeating decimal asa rational number (fraction).

1

3

5

7

9

0.145 — 2) 5.80099 —
f=0.145 — f =5.80099 —
1,000f = 145.45 100,000f = 580099.99
- 10.00000000000000000000000000000000000000000000000000f = 001.45 - 1,000.00000000000000000000000000000000000000000000000000f = 005801.99
990f = 144 99000f = 574299
144 574299
f="7 990 f= /. 99000
51.284 — 4) 3.8255 —
f=51.284 — f=3.8255 —
1,000f =51284.84 10,000f = 38255.55
- 10.00000000000000000000000000000000000000000000000000f = 00512.84 - 100.00000000000000000000000000000000000000000000000000f = 00382.55
990f = 50772 9900f = 37873
50772, 37873
f= 7 990 f= /. 9900
0.3616 - 6) 259 -
f=0.3616 - f=259 -
10,000f = 3616.6 100f =259.9
- 1,000.00000000000000000000000000000000000000000000000000f = 0361.6 - 10.00000000000000000000000000000000000000000000000000f = 026.9
9000f = 3255 90f =234
3255 234
=" 9000 ="/ %0
7.904 - 8) 0.7086 —
f=7.904 - f=0.7086 —
1,000f = 7904.4 10,000f = 7086.86
- 100.00000000000000000000000000000000000000000000000000f = 0790.4 - 100.00000000000000000000000000000000000000000000000000f = 0070.86
900f = 7114 9900f = 7016
7114 7016
="a0 =" o000
7451 - 10) 0.34397 —
f=7451 - f=0.34397 —
100f = 74512 100,000f = 34397.9%
- 10.00000000000000000000000000000000000000000000000000f = 0745.1 - 1,000.00000000000000000000000000000000000000000000000000f = 00343.97
90f = 6706 99000f = 34054
£ 6706 £ = 3054

99000

Key
Answers
144
1 /%90
574299
2 /%9000
50772
3. 990
37873
4. 9900
3255
5. /;000
234
6. /50
7114
7. 900
7016
s. /5900
6706
9. 90
34054
10. /%9000
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